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Question Number : 1 Question Id : 7715134936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W 90§ ot gfe & i % U oeses o1 98 (T,) @ T, = Tynb §N four T &, o
80% & AU X Wb=-03228 I Ted IHe(T; ) @ FHAU-I9E 80TH ¢ §, @ 80% &
W & W Ugd 4THE & AU & U o 9 I (W del H) fba @

The man-hours required (T, ) to manufacture the n unit in a plant is given by T, = Tyn°, where
b=-0.322 at the 80% learning rate. If the manufacturing time for the first unit (T; ) is 80 man-hours,
what is the total time (in man-hours) required to manufacture the first 4 units, at 80% learning rate.

(a) 322.11 (b) 251.35 (c) 103.76 (d) 51.19

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715134936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W W7 H ot I & 0 & U Aews W 9¢ (T,) @ T, = Tinb §N i T 8, R
80% B AU R Wb=-0322¢ I Teat gHe(T; ) B FHAU-IHT 80TH U §, @ 80% &
T W W Ugd 43 & MHU & U o 9 W (@ bl B) foa @

The man-hours required (T, ) to manufacture the n unit in a plant is given by T, = Tyn°, where
b=-0.322 at the 80% learning rate. If the manufacturing time for the first unit (T; ) is 80 man-hours,
what is the total time (in man-hours) required to manufacture the first 4 units, at 80% learning rate.

(a) 322.11 (b) 25135 (c) 103.76 (d) 5L.19

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134937 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 IR YUl H 3 GAH Ued § Wi WOTCH @l foueEi 0.97 @ Yl A wed
B! Tyl 0.68 8, A WORH W0 e 9 W [ & (AR ald W
2, o T TR i A pilfed B

There are a number of identical components in a parallel system. When the system reliability
150.97 and the reliability of each individual component is 0.68, What is the number of identical

components in the system (if actual value is a fraction, it may be rounded up to the next higher
integer).

(a) 2 (b) 4 (c) 6 (d) 8

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134937 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 I JOTel H &% TAM 9e | O Ul ot [yt 0.97 @ W oM W
P! fourlia 0.68 5, @ WO W0 eal 1 W [ @ (AR dRlds W
2, o 9 R il 4 gl R T

There are a number of identical components in a parallel system. When the system reliability
150.97 and the reliability of each individual component is 0.68, What is the number of identical

components in the system (if actual value is a fraction, it may be rounded up to the next higher
integer).

(a) 2 (b) 4 (c) 6 (d) 8

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Tfe Jueiaial 95%, e Gael 70% T T JAG B X 98% 8, o TN JUD B GHIfa
@1 Tl T

If availability is 95%, performance efficiency is 70%, and the rate of quality products is 98%, then
find out the overall equipment effectiveness.

(a) 42% (b) 65% (c) 75% (d) 50%

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gfe I 95%, TG Ga 70% U4 TURT IAC @I & 98% 8, d G JUBY &I FHIfd
@1 Tl Tl

If availability is 95%, performance efficiency is 70%, and the rate of quality products is 98%, then
find out the overall equipment effectiveness.

(a) 42% (b) 65% (c) 75% (d) 50%

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



frfcfed # 9 BH-u1 S yorel sfided A AviReRe o 9 w6l

Which of the following is concerned with the routing function in the production system design

(a) HHGRId SWF/Manpower utilization

(b) A& JTEI/Machine utilization

(c) JdIE @I IO SHTE/Quality assurance of the product
(d) WIP 3dedl 39%d H%1/Optimizing WIP inventory

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frfcfed # 9 oH-w Sard yorel sfided A AvieRe i 9 wef &

Which of the following is concerned with the routing function in the production system design

(a) TFGRIG 3WEF/Manpower utilization

(b) FEfH Y Machine utilization

(c) JdIc @I IO fIHTE/Quality assurance of the product
(d) WIP Sl 3G S/ Optimizing WIP inventory
Options :

1.a

2.b

3.c

4.d

Question Number : 5 Question Id : 7715134940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g IRt § U qeie A ¥, U foded § 4 MAD AH @ TgaH &}

From the forecast values given in the table below identify the MAD value from the options.

TeHIMonth | faml/Sales @Hﬁﬁmurecast
1 250 235
2 210 205
3 300 320
4 325 315
(a) 20 (b) 15 (c)10 (d)22
Options :
1.a
2.b
3.¢C
4.d

Question Number : 5 Question Id : 7715134940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g ol # U qeigAe A 9, U fdmedl # ¥ MAD AH &1 UgaH @}

From the forecast values given in the table below identify the MAD value from the options.

TEMonth | famY/Sales Wﬁmurecast
1 250 235
2 210 205
3 300 320
4 325 315
(a) 20 (b) 15 (c) 10 (d)22
Options :
1.a
2.b
3.¢C
4.d

Question Number : 6 Question Id : 7715134941 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
fifH @Y / Mateh the following:

gATad!/Mechanism R/ Machines
P. %0 Wo/Quick Return | 1. /Lathe

Q. UI/Apron 2. ®0U/Shaping
R. HieIAE i 3. IR gled wpd
Intermittent Indexing Gear Hobbing
S. fanel mact 4. T8O/ Milling
Differential Mechanism

fofefed o ¥ 8l fame g/Choose the correct option from below:

(a) P1-Q2-R4-S3 (b) P2-Q1-R4-S3
(c) P4-Q1-R2-S3 (d) P2-Q3-R1-84

Options :
1.a
2.b
3.C
4.d

Question Number : 6 Question Id : 7715134941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i @Y / Mateh the following:

gATad!/Mechanism X/ Machines
P.3d Wo/Quick Return | 1. W/Lathe

Q. UI/Apron 2. ®0U/Shaping
R. 3R i 3. fR glad wod
Intermittent Indexing Gear Hobbing
S. Tanel et 4, THU/Milling
Differential Mechanism

fofefed o ¥ 8 fawe g/Choose the correct option from below:

(a) P1-Q2-R4-S3 (b) P2-Q1-R4-S3
(c) P4-QL-R2-S3 (d) P2-Q3-R1-54
Options :
1.a

2.b



3.cC
4.d

Question Number : 7 Question Id : 7715134942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A0 oreh 1 dfie od 215,000/~ U IS I 800000 IR BTN U it
AH 9 3 foar 3, Fore £10 um @1 el &1 <Y o (THEM o) GRT S g1 36/
gl JdE & Ui gHe o P fhe 82 (@ W IR B 0.833 WH)  The annual cost of

the control system is Z15,000/- and the annual production is 800000 units. The characteristics value
to be controlled is the dimension of the product, which has a tolerance of +10 um. The loss caused
by the defective piece (Rework cost) is ¥6/-. What is the quality cost per unit of production?
(Consider mean square error as 0.833)

(a) 20.064 (b) 70.64 (c) 20.05 (d) 20.50

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

700 omeh &1 e T 215,000/- T4 @D I 800000 I 71T U st
M S @t o 3, ford £10 um @) WE 81 G O ([N aF) GRS gl 26/
&l 3 @ Ufd gHe U v fhe 82 (@ e 3R @1 0.833 WH)  The annual cost of

the control system is Z15,000/- and the annual production is 800000 units. The characteristics value
to be controlled is the dimension of the product, which has a tolerance of +10 um. The loss caused
by the defective piece (Rework cost) is ¥6/~. What is the quality cost per unit of production?
(Consider mean square etror as 0.833)

(a) 20.064 (b) 20.64 (c) 20.05 (d) 20.50

Options :
1.a
2.b
3.C
4.d



Question Number : 8 Question Id : 7715134943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gl 50-50@H H, Ided AD .......... d U 91 §

In Halsey 50-50 plan, output standards are established

(a) @I ST gRI/By time study

(b)Ud & JdIGA bls /from previous production records
(c)Ud & uig W/from one’s judgement

(d) GEF;EK-I T4 gRT /All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gl 50-50@H #, JdGT AND ... ....... a3 91d §

In Halsey 50-50 plan, output standards are established

(a) @I I GRIBy time study

(b)qd & JdIGA Pbls /from previous production records
(¢c)U& & Uiy Wifrom one’s judgement

(d) Cﬂéﬂﬂ T4 gRT /All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofifed & ¥ oF T- RMES A9 @ IRRRE &

Which of the following represents a group incentive plan?

(a) e Ti9Hl/Scanlon plan

(b) a9 TSHI/Rowan Plan

(c) SEI6 TIHI/Bedaux plan

(d) gedl WifH FeHIHalsey premium Plan

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofofed & ¥ o WE- RUEd o1 @1 WoRfid ol o

Which of the following represents a group incentive plan?

(a) e 9]/ Scanlon plan

(b) A& FSHIRowan Plan

(c) 98I TaHl/Bedaux plan

(d) gt Uiffa JieHT/Halsey premium Plan

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4 uE fig @ 5 feAis fogen @ 96 @ oRagd W & fofl-Fwion & omowe oy &t
ten foad 8

In a transportation problem with 4 supply points and 5 demand points, how many number of
constraints are required in its formulation?

(a) 20 (b) 1 (c)0 (d)9



Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4 wuTr fdg ud 5 feis fogat ¥ 9w 1@ gt W o fafd-Rein § smowe @y @
e ol 8

In a transportation problem with 4 supply points and 5 demand points, how many number of
constraints are required in its formulation?

(a) 20 (b)1 (c)0 (d)9

Options:
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofefed & 4 9 U9 B @ A9 qUTh (F4) &1 Wi & 82

Which of the following represents the average revenue curve of a firm.

(a) Ufd gfe Frf @1 T @1 vl Sde 9 (@)
The curve representing the cost per unit of output

(b) BH & @G & U Juviget @ 398 3% (@d) & WH

The same as the demand curve of consumers for the firm'’s product
(c) WH &R W@ Pa Wie/Total receipts realised by the firm

(d) b’d ‘e’ GHI /Both ‘b’ and ‘¢’ above
Options:

1.a

2.b

3.c

4.d



Question Number : 11 Question Id : 7715134946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s # ¥ o1 19 B @1 A9d qUTh (@d) &1 Ui & 52

Which of the following represents the average revenue curve of a firm.

(2) Wld gFe g @ @ &1 wfaRid S 96 (@)
The curve representing the cost per unit of output
(b) TH & Jd & fu Suuiel & Al o (@d) & TN
The same as the demand curve of consumers for the firm’s product
(c) W4 gR1 Wd $d TWie/Total receipts realised by the firm

(d) b’ T ‘c’ GHI /Both ‘b’ and ‘¢’ above
Options :

1.a

2.b

3.c

4.d

Question Number : 12 Question Id : 7715134947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e gidH wEi o

Who conducted the Hawthorn experiment

(a) faferm s/ William Gilbreth
(b) & Wi/ Hendry Fayol

(c) TF S=g CUR/E.W Taylor
(d) Tee ARVELon Mayo

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o gl v o

Who conducted the Hawthorn experiment

(a) faferm s/ William Gilbreth
(b) 27 B/ Hendry Fayol

(c) TF S=q CUR/E.W Taylor
(d) TeeT AAVELon Mayo
Options :

1.a

2.b

3.c

4.d

Question Number : 13 Question Id : 7715134948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T SR e 4 R R SR IwmE ¥

Process layout is best suited for which of the following:

(a) faRPTERUT fa=rM/Specialization exists
(b) HEIHT @I TEleH & HAMUR W@ ol §

Machines are arranged according to sequence of operation

(c) R AF@IPd gHel B 39 T8N SOF I 9 &

Few number of non-standardized units is to be produced
(d) oMU Jaied @i RS B Mass production is envisaged

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



whd Sffufeare Fgfcifed # 9 foue fou wed Sugw &

Process layout is best suited for which of the following:

(a) fafmieor faemH/Specialization exists
(b) W P YEIEH & HHEYR W O 8

Machines are arranged according to sequence of operation

(c) R AF@IPd g B $ GBI I B oHl 3

Few number of non-standardized units is to be produced
(d) oMU Jaied @i RS BT Mass production is envisaged

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fufefe # ¥ 3181 CPM # Td TRacH &l ¥ &
Which of the following defines the cost slope in CPM

(2) $Y AF/EMA A/ Crash cost/Normal cost
(b) (9 A ) (W GE-he] )
(Crash cost-Notmal cost)/(Normal time-crash time)
(c) WM TRRSRY 99 /Normal cost/Crash cost
(d) (S ARG ) /(W - )
(Normal cost-Crash cost)/(Normal time-Crash time)
Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



el # ¥ 3-8 CPM # T TRacH & ¥ &
Which of the following defines the cost slope in CPM

(a) $Y AFI/EMA T/ Crash cost/Normal cost
(b) (0 -G TAIG) (WIS o6 )
(Crash cost-Normal cost)/(Normal time-crash time)
(c) WM RSS9 /Normal cost/Crash cost
(d) (S QARG ) /(W - )
(Normal cost-Crash cost)/(Normal time-Crash time)
Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tad Fded Fdam o, uer @t wid q9 @ Wil § 96 9 S ...l T Ted
Wl gl

In perpetual inventory control, the material is checked as it reaches its

(a
(b
(c
(d

A4dH HH/Minimum value
Hf¥dan M /Maximum Value
I T /Average value
A AH /Middle value

e

—

Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Tad Fded Fdam o, ver @t wid q9 @ Wil § 96 9 S ... 7@ Tgd
Wil gl

In perpetual inventory control, the material is checked as it reaches its

——

(a
(b
(c
(d

A HAH/Minimum value
Hfdad HH /Maximum Value
3G T /Average value
A8 HH /Middle value

—

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T qad T H, U6 T @ AT 9901 oHd Awgl MHad § oul 99 0@ S9d! Ghdl
.......... 96 T8 Ugadl B i o T e o

In the Emerson efficiency plan, a worker receives only his daily wage and no bonus is paid fill his
efficiency reaches

(a) 50% (b) 66.67% (c) 33.33% (d) 75%

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TR G T A, U T @1 A 9991 oNe AWgl fadl & 9Y 96 9@ S99l o
.......... T T8 Ugadl D A W T e wl

In the Emerson efficiency plan, a worker receives only his daily wage and no bonus is paid till his
efficiency reaches

(a) 50% (b) 66.67% (c) 33.33% (d) 75%

Options :
1.a
2.b
3.¢
4.d

Question Number : 17 Question Id : 7715134952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I A W, AR A . o FuRu & fou wgw g |

In time study, the rating factor is applied to determine

(a) @ B 9F@ 999/Standard time of ajob

(b) WG BT HHS YegHuR/Merit rating of the worker
(c) Wi & @1 Fga/Fixation of incentive rate

(d) HdqX &1 YH FHY /Normal time of a worker

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o1 e H, qEeRe ad L & MuRu & fou ww gl 8

In time study, the rating factor is applied to determine

(a) @M @ HHG ¥99/Standard time of ajob

(b) WG BT HFG YegHuR Merit rating of the worker
(c) Wi & @1 Faa/Fixation of incentive rate

(d) Hvigt DT YHF §HY /Normal time of a worker

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T UNdeT T &) Jag & fau wuiaRa faavw fofY oefeum & Ty oM wed & fau, seh
E G e R [ e RO gl

To proceed with the modified distribution method algorithm for solving a transportation problem,
the number of dummy allocations need to be added are:

(a) n (b) n-1 (c) 2n-1 (d) n-2

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T URaeT T B qag & fo wuiaia R Y weifem & iy om wen & fow, s
Fget of g 9 aet gl L. gl

To proceed with the modified distribution method algorithm for solving a transportation problem,
the number of dummy allocations need to be added are:

(a) n (b) n-1 (c) 2n-1 (d) n-2



Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W S WO SN B QH o U iR B R R oW e |,
R I 2l

If there is no non-negative replacement ratio in solving a linear programming problem then
the solution is

(a) T¥/Feasible (b) TREE/Bounded
(c) TRUREs/Unbounded (d) 3Fd/Infinite

Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ eD GUEd T 6l gH & v At ok BUR GR oMud o8, d
e B gl

If there is no non-negative replacement ratio in solving a linear programming problem then
the solution is

(a) WId/Feasible (b) UGS/ Bounded
(¢) R URES/Unbounded (d) 3Fd/Infinite
Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134955 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

el gu & U G0 @, U W 129 N0 R G S U & FuR M deld 9 |
gl Wa1 W, A 4 B & TS d B U $l 5, ... e L
T B Y B

A petrol pump has one pump; vehicles arrive at petrol pump according to poison input process at

average of 12 per hour. The service time follows exponential distribution with a mean of 4 minutes,
the pumps are expected to be idle for

(a) 3/5 (b) 4/5 (c) 513 (d) 6/5

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tod T d to U g, oW 12 I R O ST Ued & 39R eyl e 00 |
gl ¥a1 U, 3 4 A & W@ g1 B UeH B 8, W o........... @ e
T B Y gl

A petrol pump has one pump; vehicles arrive at petrol pump according to poison input process at

average of 12 per hour. The service time follows exponential distribution with a mean of 4 minutes,
the pumps are expected to be idle for

(a) 3/5 (b) 4/ (c) 53 (d) 6/5

Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U5 &1 ®d R 2500 qad U 70 4 qu7 95 U T o fh e e 1200 4R
g mrmdm . g

At a work place 2500 observations were conducted and it was found that the activity under study
occurred 1200 times; the limits of accuracy is

(a) 2% (b) 5% (c) 4% (d) 2.5%

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 ®1 ®d W 2500 qad U 70 4 qu1 95 U T o fh e e 1200 9R
e mrmdm . %

At a work place 2500 observations were conducted and it was found that the activity under study
occurred 1200 times; the limits of accuracy is

(a) 2% (b) 5% (c) 4% (d) 2.5%

Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fre ®¥/Match the following :

(1) | # (p) Eﬁ AT dDisassemble
(i) | 1 (q) | f&fd/Position

(i) | 9 (1) gﬁ Gﬁ%ﬂTﬁAssemble

(iv) | * (s) | d9G/Select

A e fadedl & @ $FE: (i), (i), (iii) W@ (iv) @ U 9 #4d I

Pick the right match for (1), (ii), (iii) and (iv) respectively from the options below:

(@) 1.p,q.s (b) 5,q.p.r (¢) p.q.rs (d) sr,q.p

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ®¥/Match the following :

(1) | # (p) Eﬁ AT HDisassemble
(i) | 1 (q) | Rufd/Position

(i) | 9 (1) g@f GﬁSHTx"Assemble

(iv) | * (s) | dG/Select

4 o fdwedl d ¥ S (i), (ii), (i) W@ (iv) @ o 9 9 3

Pick the right match for (i), (ii), (iii) and (iv) respectively from the options below:

(a) 1,p.q.s (b) s,q.p.r (¢) p.grss (d) srq.p

Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134958 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
oH-U RO, B¢ 9 wRadl & dRe wipwe $1 TIOR $Ed W Bl 6

Which concept focuses on the continuous improvement of processes through small, incremental
changes?

(a) W1 Tidh/Poka-yoke (b) % T TEA (W3R Just-In-Time (JIT)
(c) hw/Kaizen (d) g ¥m At Value Stream Mapping

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DA YR, B¢ qE uRadd & IRy vl @ TR SRl W $id

Which concept focuses on the continuous improvement of processes through small, incremental
changes?

(a) UleT Ub/Poka-yoke (b) W T RA (W3EEN /Tust-In-Time (JIT)
(c) Hw/Kaizen (d) g ¥m At/ Value Stream Mapping

Options:
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TN UfiEm §, @ U ¥ el TR o @ uiE e @ 8

In work sampling, what is the primary purpose of collecting data from a process?

(a) RIG UHHUI WY Pl URHTH BN To calculate the average processing time

(b) g # TRty Bl TgAFHITo identify bottlenecks in the process

(c) Wishdl THg & AF® fq9ad @1 M1dHT/To estimate the standard deviation of process times
(d) T VU ST e BT A B To measure the overall process efficiency



Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o UfiEm §, @ U ¥ el TR o @ TuiE S @ @

In work sampling, what is the primary purpose of collecting data from a process?

(a) 9d WHHY Y9G P URDTH B To calculate the average processing time

(b) Wi ¥ TR B TGAFAITo identify bottlenecks in the process

(c) ViU T90 & T fd9eH @I AHT/To estimate the standard deviation of process times
(d) THT Ui @I CeT @1 AU HIN/To measure the overall process efficiency

Options:
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
i geliad | oy g el a8

What does the term "Theory of Constraints” refer to in Industrial Engineering?

a) Wiferdim uspA Fga0 @ T /A method for statistical process control

b) UG WAE & IH{HeH & Y b ddb-Id/A technique for optimizing production flow
c) U 3T & folu th oy TRA/A philosophy for waste reduction

d) TRy B Gar T FHueH @ oy o

A framework for identifying and managing bottlenecks

(
(
(
(

Options :
1.a
2.b
3.c
4.d



Question Number : 25 Question Id : 7715134960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e geiad o oty fegiar e d6ftE

What does the term "Theory of Constraints” refer to in Industrial Engineering?

a) Wiferdim uspA Fga0 @ T /A method for statistical process control

(a)
(b) IUTEH WAlg & 3HeH & [ Th da-id/A technique for optimizing production flow
(c) U 3T & folu th oy TRA/A philosophy for waste reduction

(d) TRy B! GEarH U6 Fued & fu $

A framework for identifying and managing bottlenecks

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g &7 wRaieH @ g

What is green field project?

(a) TRT &7 TRGH TR 3ga TRAH

A green field project is an environmentally friend project

(b) T &7 Ui e T &t e uRee R SW g UiiRd fer o @

A green field project is a project located in a foreign country and encouraged by that country

(c) BNa &7 uRaeHl w U oRae & R R oW @ tiel W@ S 6

A green field project is a project that involves an MNC and a firm in another country

(d) Bha &7 uRae we U oRae § W W § I BRI 8 U 0N & 9d Bl 6
A green field project is a project that starts from scratch and produces the facility that is needed.

Options:
1.a
2.b
3.¢
4.d



Question Number : 26 Question Id : 7715134961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gRd &7 TRae @ g

What is green field project?

(2) RGO &7 uRaeH TR EHa TR

A green field project is an environmentally friend project

(b) T & il e Tog &t te R § fR SW gR Unied fear o @

A green field project is a project located in a foreign country and encouraged by that country

(c) TNT &F Ui o U Oivaler § R oF oX @1 UHeTl W B I g

A green field project is a project that involves an MNC and a firm in another country

(d) 3T &7 oRuieT @ T RO § W S9 ¥ IR BN § auT STRd S 9O BN §

A green field project is a project that starts from scratch and produces the facility that is needed.

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

98 P U ol & aeF & fow Fefafed & o9 ois &1 Sugn fear i &

For thread cutting and drilling of holes which of the following codes are used?

(a) WA G-33Td G-83 / G-33 and G-83 respectively
(b) A G-83Td G-33 / G-83 and G-33 respectively
(c) AT G-81Td G-83 / G-81 and G-83 respectively
(d) PHE: G-337Td G-81 / G-33 and G-81 respectively
Options:

1.a

2.b

3.c

4.d

Question Number : 27 Question Id : 7715134962 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
I8! @i 0 gl & 9 & fou Fofafed & oH-3 ol @1 W fem S 8

For thread cutting and drilling of holes which of the following codes are used?

(a) A G-33Td G-83 / G-33 and G-83 respectively
(b) PHE: G-83Td G-33 / G-83 and G-33 respectively
(c) H: G-81Td G-83 / G-81 and G-83 respectively
(d) PHE: G-33Td G-81 / G-33 and G-81 respectively
Options :

1.a

2.b

3.C

4.d

Question Number : 28 Question Id : 7715134963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3P aliRo gomelt L. ¥ M /optiz classification system is made of
(a) 8 3id/digits (b) L1 Sfd/digits (c)13 Ad/digits (d)16 3id/digits

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3Pl Jomel ...l ¥ Mffa 8/0ptiz classification system is made of
(a) 8 3i@/digits (b) 11 3fd/digits (c)13 3fa/digits (d)16 3fd/digits

Options :
1.a
2.b
3.c
4.d



Question Number : 29 Question Id : 7715134964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3fid AF (EV)=250, TRdd® AP (AC)=200 W@ Fuifvd AF (PV)=350 & ¥Y & P fe
T g1 A e s @ @deE) @ w aml

Given a project with Earned value (EV)=250, Actual Cost (AC)=200 and planned Value (PV)= 350.
Find out the cost Performance Index (CPI).

(3 071 (b) 125 (c) L4o (d) 08

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Hfoid AF (EV)=250, dRAid® oA (AC)=200 T4 FRIfvd #H (PV)=350 & ¥ W& & i
oo I N L e e o e O R e e 1

Given a project with Earned value (EV)=250, Actual Cost (AC)=200 and planned Value (PV)=350.
Find out the cost Performance Index (CPI).

(a) 0.71 (b) 1.25 (c) 140 (d 08

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T W Ud @ad AEH @1 260000 H Ge 1 10 9 & o 6 IS HGE GG 212000
AT 31 R g fder @1 ST BRd §U aAa Fad UioRd SHeH L. ........ 8

An automatic screw cutting machine has been purchased for 260000. Its scrap value at the end of 10
years is estimated as 12000, Fixed percent depreciation estimated using sinking fund method is:

(a) 13.9% (b) 14.9% (c) 15.9% (d) 14%

Options:
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Wod Ud dad AEH @1 260000 H Ge 1 10 9 & A 6 IUDT HGE G 212000
AT 31 R g fder @1 ST BRd §U aAa Fad UioRd SHeH L. ........ 8

An automatic screw cutting machine has been purchased for 260000. Its scrap value at the end of 10
years is estimated as 12000, Fixed percent depreciation estimated using sinking fund method is:

(a) 13.9% (b) 14.9% (c) 15.9% (d) 14%

Options:
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TCTey T & T PR a9 @ Ao B¢

Match the following curves with corresponding cost:

Cost 1
“*«\H_ ) 5
\ /2
b
'—J__'/'J'/ik\-"-.'_:_ “
/ 3
Order qLTanliiy

(a) DA T/ Total cost (b) oFd¥Y1 TId/Setup cost
(¢) e oFTd/Production cost (d) ¥RUT dFId/Holding cost

et fawe gH/Choose the correct option:

A B C D

a)
b)
C

l
4
l
d) 4

— e —
P2 b el e
sl fad 2 b

(
(
(©)
(d)
Options :
1.a

2.b

3.cC
4.d

Question Number : 31 Question Id : 7715134966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TCTey T & T PR a9 @ Ao B¢

Match the following curves with corresponding cost:

Cost 1
‘\\m__,__/
/ |
.
—;;/"-/,\"—\"':_j_ 4
3
Order qsanli!y

(a) DA T/ Total cost (b) oFd¥Y1 TId/Setup cost
(¢) e oFTd/Production cost (d) ¥RUT dFId/Holding cost

et fawe gH/Choose the correct option:

A B C D

(a)
(b)
(c)
(d)

l
4
l
d) 4

4
l
4
l

b3 3 Tl s
sl fad 2 b

Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gferd o IO & JEeE ... & DRU fgame ¢

Solution to the balanced assignment problem is binary due to

(a) Y® TV linear formulation

(b) 3k ETA &F/non-empty feasible region
(c) Gf¥ded UIIRYH/approximation algorithms
(d) WHid UrETuni-modularity property



Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gqferd Fae 9o & JHYE ... ... & BRU g ¢

Solution to the balanced assignment problem is binary due to

(a) Y@ FAE linear formulation

(b) 3iR&d U &F/non-empty feasible region
(c) f¥ded URIRYH/approximation algorithms
(d) THi® U uni-modularity property
Options :

1.a

2.b

3.C

4.d

Question Number : 33 Question Id : 7715134968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T FRE0 GO, e ARl & Wd & R 1869¢ # 06 & @ R @l §e7 & T Bl
g AOHT-T0, 14 9¢ & TOMd & W 99 (THOICOR) & 9N RO Gy &1 U ol
2l e IAEA BH 222,500 0 der B, O HHH USHARE (3H) & BRU SHHIFd e Jacdhd
GG A 5

Arrival of machines for repair in a maintenance shop follows a poisson distribution at a rate of one
per 18 hours. The time to repair follows an exponential distribution with Mean Time To Repair
(MTTR) of 14 hours. If the productivity loss is 322,500 per hour, then the total expected loss of
productivity due to machine breakdowns ( ) is:

(a) 78,750 (b) 1,01,250 (c) 11,81,250 (d) 14,17,500

Options :
1.a
2.b



3.cC
4.d

Question Number : 33 Question Id : 7715134968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T HR4T GOH, e T 3 IR & U 189¢ § 16 ¢ ® W G e &1 T aed
8 RW-9RY, 14 9¢ & WoNd & A1 T (WHACHR) & WY WUdi@! IR0 @ U el
8l ¢ IUEA BH 222,500 0 der 8, @ HRH USHARE (3H) & ORU SHHIFG P I
o &

Arrival of machines for repair in a maintenance shop follows a poisson distribution at a rate of one
per 18 hours. The time to repair follows an exponential distribution with Mean Time To Repair
(MTTR) of 14 hours. If the productivity loss is 222,500 per hour, then the total expected loss of
productivity due to machine breakdowns ( ) is:

(a) 78,750 (b) 1,01,250 (c) 11,81,250 (d) 14,17,500

Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



@ T # e o fou fyia 0 S @ Sa FEER

Data on five products to be processed on a single machine is given below:

JAg | WeA W | ywew ww | froa el
Product | Release time | Processing time | Due date
P 0 3 10
Q 2 4 0
R 0 2 15
S l 3 11
T l l 13
wHAU 90 R-P-S-T-Q & fU, o dimma ... 3
For the processing sequence R-P-S-T-Q, total tardiness is
(a) 10 f&/days (b) 15 f&/days (c) 11 ¥/days (d) 12 f&T/days
Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



@ T # e o fou fyia 0 S @ Sa FEER

Data on five products to be processed on a single machine is given below:

JAg | WeA W | ywew ww | froa el
Product | Release time | Processing time | Due date
P 0 3 10
Q 2 4 0
R 0 2 15
S l 3 11
T l l 13
wHAU 90 R-P-S-T-Q & fU, o dimma ... 3
For the processing sequence R-P-S-T-Q, total tardiness is
(a) 10 f&/days (b) 15 f&/days (c) 11 ¥/days (d) 12 f&T/days
Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715134970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W U0 AR (@ &%) o, N @RI de7 & SR 2 OR U 9 & WE & I oW 5l W@
TR & YT & U g9 (@ §) U9 & U RO 5l FaR ¥ A Wt T (e
11— g

In a service cenfre, cars arrive according to Poisson distribution with a mean of 2 cars per hour. The
time for servicing a car is exponential with a mean of 15 minutes. The expected waiting time (in
minute) in the queue is:

(a) 10 (b) 15 (c) 25 (d) 30

Options :



1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W U0 IR @ &%) §, N G deT & oFER 2 OR Ul 9¢ & W & A oW gl W@
BR & WA & U g (@ #) W9 O Y RUdo! 51 SAR § SFHIHG Wlen § (e
 —— 5

In a service centre, cars arrive according to Poisson distribution with a mean of 2 cars per hour. The

time for servicing a car is exponential with a mean of 15 minutes. The expected waiting time (in
minute) in the queue is:

(2) 10 (b) 15 (c) 25 (d)30

Options :
1.a
2.b
3.cC
4.d

Question Number : 36 Question Id : 7715134971 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UH 3% &1 dfe AT 19845 AT § T ST @ 100 IR Wi & 31 Wid g Sared (e
M @1 BlgdY) 250, WA YRV G 210 Ud aRYT A Ui oaRi 3520 &1 %o e arld
Bl P B & oy Ui e & fEe § IaA T AfHan wE e g

The annual demand of an item is 19845 units and the production rate is 100 units per day. The per-
unit production cost (excluding sefup cost) is 250, the per-unit holding cost is Z10 per year and setup

cost is T 520 per setup. What is the optimum quantity to be produced per setup to minimize the total
annual cost?

(a) 2127 gF</units (b) 2130 gfe/units
(c) 3000 gf¥/units (d) 3500 gfe/units
Options :

1.a

2.b



3.cC
4.d

Question Number : 36 Question Id : 7715134971 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH 3% @I D A 19845 ZFE § 791 Ide W 100 I Wid e |1 Wi gie S (omae
AT 1 Bled) 250, W0 YRV G 210 U4 aR G Ui el 3520 &1 P e el
ol 37 X & o o oo & e ¥ ST W fiedd A fd 6

The annual demand of an item is 19845 units and the production rate is 100 units per day. The per-
unit production cost (excluding setup cost) is 250, the per-unit holding cost is Z10 per year and setup

cost is T 520 per setup. What is the optimum quantity to be produced per setup to minimize the total
annual cost?

(a) 2127 gfe/units (b) 2130 Zf¥e/units
(c) 3000 T units (d) 3500 Zf¥e/units

Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134972 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W 3G ¢, 5 4 & g & UR ulfed 7 ¢ o @l 51 fafdy o weal & fou gwmw
T R 3

A production line operates 7 hours a day in a 5-day week. The processing times for various job
elements are as follows:

@[ Tcd/Tob element plq|r|s |t

TP HUT YHY(s)/Processing time (s) | 5 | 10| 12| 3 | 15

% @ B i@ Ui 8T 8400 I & ASel & fow @ T &, df dgifow w0 @
HA® I I B aH G ... [

[ the line is designed for an output of 8400 units per week, the theoretical minimum number of work
stations required is:

(a) 7 (b)3 (c)4 (d) 11



Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134972 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1@ I a9, 5 67 & TR & f9R 1ffeT 7 € o ot g1 fofey o weal & fow
T TR B

A production line operates 7 hours a day in a 5-day week. The processing times for various job
elements are as follows:

@[ Ted/Job element plq|r|s |t

TpHUT THY(s)/Processing time(s) | 5 | 10| 12 3 | 15

e @ B i@ Ui g 8400 I & A8l & fou @ T 5, d@f dgfow w0 4
HAE Y I B I G L. [

[ the line is designed for an output of 8400 units per week, the theoretical minimum number of work
stations required is:

(a) 7 (b)3 (c)4 (d) 11

Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134973 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

REL chart is used in

(a) 7T WE8/ Quality management

(b) §9dedl HeeH/Inventory management

(c) §faem UdeF/Facility management

(d) AFd HHEH YeltF/Human resource management



Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134973 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

REL chart is used in

(a) 7T WE8/ Quality management

(b) §9dedl HeeH/Inventory management

(c) §faem UdeF/Facility management

(d) AFd HHEH YeltF/Human resource management

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134974 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

S AT ¢ UE WM OH, 100% & SHURU & WY WHR GHY 1405 @ls (B9 T 2% &
TG & WY, ¥ds § A0 T foaT o

In a work study experiment, normal time was recorded as 140s with a rating of 100%. Considering
2% allowance, what is the standard time in seconds?

(W& GIHad # quiidd BYround off to | decimal place)

(a)142.9 (b) 145 (c) 120.7 (d) 119

Options :
1.a
2.b
3.c
4.d



Question Number : 39 Question Id : 7715134974 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PN T UG WA, 100% & GHURU & 9N GHR GO 1405 W@ls (0A TN 2%
TR% & 9N, Ybs # 7Fe ¥ &d

In a work study experiment, normal time was recorded as 140s with a rating of 100%. Considering
2% allowance, what is the standard time in seconds?

(W e¥med H qufced Héround off to 1 decimal place)

(a)142.9 (b) 145 (c) 120.7 (d) 119

Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134975 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafed #H W fGER &

Consider the following statements:

I THad 3ol I @ @ & i W@ R Seii Spem gl
Concurrent engineering is a non-integrated approach for designing a product.

1L Woad Seliad, o S oo &l o e ™o ¥ o 9 8l

Concurrent engineering carries out all product development functions in a sequential manner.

I, J9ad 3oia, S Ao 1 9g-Ue &1 &9 & ol

Concurrent engineering reduces the lead time for the product development.

V. T Zeiad, S e 3 T9a-4 & s &l

Concurrent engineering increases the lead time for the product development,

ffofed 4 ¥ W faod 3

Choose the correct option from below:

(a) WA | W& gonly 1 is True

(b) 5 I g &/Only Il is True

(¢) 1 3R 11 GHT @5t 2/Both I and 11 are True

(d) TII 3R IV &1 §&t &Both I and IV are True



Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134975 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafed P W fGER B

Consider the following statements:

I woadf goiad Sa @t afieed & fou w R wHeiid de 2

Concurrent engineering is a non-integrated approach for designing a product.

1L Toadi e, T Sare faor ol @ e ™o ¥ ° 9 8l

Concurrent engineering carries out all product development functions in a sequential manner.

111, 9931 Soiadl, Sd el 3 T9-39 & &9 & ol

Concurrent engineering reduces the lead time for the product development.

V. 9 Suiad, S 0o 3 T99-4 & sl &l

Concurrent engineering increases the lead time for the product development.

fffed 4 ¥ W faoe 3

Choose the correct option from below:

(a) WE | Tl §/Only 1 is True

(b) 5 I g &/Only Il is True

(¢) 1 3R 1 GHT ¥t ¥/Both I and I1 are True

(d) TII 3R IV G ¥&! &/Both ITI and IV are True

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134976 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



W o0l dffe FU ¥ T o We oed ¢l Wd T & dffe 4R dd 230 g1 A A
G 230 8, of e SR WA .......... %

A company procures 384 parts annually. The annual holding cost per part is Z 30. If the ordering cost
is 21000, then the economic order quantity is :

(a) 360 (b) 258 (c) 160 (d) 85

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134976 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W OO die &0 U Gl @ Gie ot gl Wd o & die YRU TG 230 g1 A e
o 230 8, e AR W L., g

A company procures 384 parts annually. The annual holding cost per part is Z 30. If the ordering cost
is T 1000, then the economic order quantity is :

(a) 360 (b) 258 (c) 160 (d) 85

Options:
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134977 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



In Value Engineering approach, the value of the product is

(a) 39 Ve & ehHMUI Ud TTd & e A 3

inversely proportional to its functions and directly proportional to its cost
(b) e Y o Tt HUIdP U I o GehHMUId| 8

directly proportional to its functions and inversely proportional to its cost
(c) T Webr T4 T o oGGh AR

inversely proportional to its functions as wells as its cost
(d) 39 W U4 AT o W AT

directly proportional to its functions as well as its cost

Options :
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134977 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In Value Engineering approach, the value of the product is

(a) T YT o AR T T & Ui AFIios &
inversely proportional to its functions and directly proportional to its cost
(b) 39 Wb o W ST T TG b SR 3
directly proportional to its functions and inversely proportional to its cost
(c) TP WP Td TAIT o ogGhARICH
inversely proportional to its functions as wells as its cost
(d) G T T4 TG & i S
directly proportional to its functions as well as its cost
Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134978 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fefciad A 9 SH-9 ST G U (GARY) WOl & erigd H T 8

Which one of the following is NOT in the scope of Enterprise Resource Planning (ERP) system ?

a) UMY TIdl Udf®/General ledger entries

b) Uar Het WUMcll/Materials management system
¢) 36X W WUcl/Order management system
(d) HHaNl Ged Afd/Employee promotion policy

Options :

(
(
(

1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134978 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafcifed & 8 PH-T 9o T O (SR ol & erigd A T g

Which one of the following is NOT in the scope of Enterprise Resource Planning (ERP) system ?

a) JHEM Grdl UidP/General ledger entries

b) Uer HeeH WUMell/Materials management system
¢) 3MG¥ WefeH WOTl/Order management system
(d) PHAR! i Hifd/Employee promotion policy

Options :

(
(
(

1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134979 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



uroft H el o3 & @R G U §/The table gives details of an assembly line.

1 WY Work station I (I | |IV|V |VI
ol ¥ R 9 o1 9 (e 9)

Total task time at the workstation (in min)

THac @A @ A Gudl o o7

What is the line efficiency of the assembly line?

T (9 [7 |10]9 |6

(a) 70% (b) 75% (c) 80% (d) 85%

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134979 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

groft H el o5 & @ & U §The table gives details of an assembly line.

M T/ Work station I (I | |IV|V |VI
oM W R $q 30 ¥ (e )

Total task time at the workstation (in min)

Tl R @1 AT Gedl e 8

What is the line efficiency of the assembly line?

T (9 [7 |10]9 |6

(a) 70% (b) 75% (c) 80% (d) 85%

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134980 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



waeh TR # RO @ W@ & o, Ui aeed @ @ fom T g W@ @A 10,8,6,9T 10
o oW gl a1 & o YW fade ........... Bl

In an assembly line for assembling toys, five workers are assigned tasks which take times of 10, 8, 6,
9 and 10 minutes respectively. The balance delay for line is

(a) 433% (b) 14.8% (c) 14.0% (d) 16.3%

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134980 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

w9 H RO @ T & o, e aee @ e fom T g W @A 10,8,6,9T 10
firfe 1 998 o §1 o & fo 99 fade ... gl

In an assembly line for assembling toys, five workers are assigned tasks which take times of 10, 8, 6,
9 and 10 minutes respectively. The balance delay for line is

(a) 43.3% (b) 14.8% (c) 14.0% (d) 16.3%

Options:
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134981 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



5 Y05 T W AR R

A linear programming problem is shown below.

JAM ¥ ddh ggH/Maximize X+Ty

A [d/Subject to X+ Ty<10
dx+6y<8
Xy>0

QT e T Y & fou faffed @ 9 oF-a g 8

Which of the following is correct for the above linear programming problem

(a) % 36 T8 YT /1t has unbounded objective function

(b) UM TP TS S¥aH I gt has exactly one optimal solution

(c) 39 G gl 3P I g/t has exactly two optimal solutions

(d) 5% 30 U ¥ F5 W UM g/t has infinitely many optimal solutions
Options:

1.a

2.b

3.c

4.d

Question Number : 46 Question Id : 7715134981 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

5 305 T W A R

A linear programming problem is shown below.

JAM ¥ ddh ggH/Maximize X+Ty

A [d/Subject to X+ Ty<10
dx+6y<8
Xy>0

QT e T Y & fou faffed @ 9 oF-a g 8

Which of the following is correct for the above linear programming problem

2) T 3§ T8 YT /1t has unbounded objective function
b) U UF Tel 3PAW JU g/It has exactly one optimal solution
¢) 30 G el 5P JUM g/t has exactly two optimal solutions
d) S 30 U ¥ F5 S0 UM g/t has infinitely many optimal solutions

Options :



1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134982 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TTd &1 HaH $UMatch the CORRECT pairs.

JU/Group I JU/Group 11
P. HId HIH @1 L. 3M & AFG ¥ B UgdH Bl §
Man-machine chart Determines standard time of jobs
Q. UM T% 2. B8 B B 3fedd WOIEl B Gdl @ §
Learning curve Finds the preferred method of doing work
R. @ A 3./ YR @1 HI0H &l &
Time study Measures work improvement
S. T e 4. P w90 ot i 3
Motion study Shows idle times

M9 # ¥ wgl fade @1 98 $YChoose the correct option from below:

(a) P-2, Q-3, R-4, S-1 (b) P-3, Q-2, R-4, S-1
(c) P-4, Q-1,R-3,8-2 (d) P-4,Q-3,R-1, S-2

Options :
1.a
2.b
3.cC
4.d

Question Number : 47 Question Id : 7715134982 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



el I @1 AaH $8Match the CORRECT pairs.

JU/Group I JU/Group 11
P. AT HEH dE 1. &8 & AFD GAY B UgdH BRI §
Man-machine chart Determines standard time of jobs
Q. M % 2. 1 A B Ifedd WO &1 Ul @l @
Learning curve Finds the preferred method of doing work
R. & LT 3. %1 QUR & A0 & 8
Time study Measures work improvement
S. T e 4. Pl w90 @1 g 3
Motion study Shows idle times

% o ¥ T8 fdded @1 999 BY/Choose the correct option from below:

(a) P-2, Q-3, R+4, S-1 (b) P-3, Q-2, R-4, S-1
(c) P-4, Q-1, R-3, -2 (d) P-4, Q-3,R-1, S-2

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134983 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

O B UHG YHH TEwd N & J9dl AR Bed @ Qg & 9H) o gl oaf @
YR W22 T o fpfeda oy @ woft 7iofefil & e & wiedr ... ... &
Let @ denote the cumulative distribution function of the standard normal random variable. The

probability that all activities on the critical path, based on the mean activity duration, are completed
in 22 days is:

(a) ®71(0.333) (b) ®71(0816) (c) @71 (L664) (d) D1(2.239)

Options :
1.a
2.b



3.cC
4.d

Question Number : 48 Question Id : 7715134983 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

O B HHG AN TE@d N & Yadl R0 Bed @ YRd & JH| A i ol &
HR W22 fod o fewa vy o o wiofafial & v & wited ... g

Let @ denote the cumulative distribution function of the standard normal random variable. The
probability that all activities on the critical path, based on the mean activity duration, are completed
in 22 days is:

(a) ©71(0.333) (b) ®71(0816) (¢) d7L(1.664) (d) D1 (2.235)

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134984 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Pl A 3 Yoo o A o TR @) W el 2

Which among the following is a method for resolving degeneracy in a linear programming problem

a) I @I &Y YUTeH/Charne’s Perturbation Method
b) fg RO WOIMeil/ Two Phase Method

) TY T UTCH/Carners M Method

d) b d ¢ GHIBoth b & ¢

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134984 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofifed & ¥ XE W 0 7 AmyEd §aEH @1 g e e

Which among the following is a method for resolving degeneracy in a linear programming problem

(a) I I &MY WOel/Charne’s Perturbation Method
(b) f§ X0 HOMRIl/ Two Phase Method

(c) @Y TH WU/ Carners M Method

(d) b d ¢ GHIBoth b & ¢

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134985 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
e, Wi 9¢ 20 & f9d QX P WY Wl WHH & YR W TP g gRI Y o IR H

A 5 0P Ued B Yol & foU aWE T H 100 YdS & AW & Y M §ed gl
163 | U6 8P & HaR § J9dd JdIe1-999 & 0 |

Customers arrive at a sales counter manned by a single person according to a
poisson process with a mean rate of 20 per hour. The time required to serve a
customer has an exponential distribution with a mean of 100 seconds. Find the
average waiting time of a customer in the queue in seconds

(a) 125 (b) 135 (c) 225 (d) L15

Options:
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134985 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Ted, Wi UE 20 & AEd X P WY G WHH § MR W 0P i g HId el e A
3l §1 W e B Wgldl o U v g # 100 ¥hs & A & WY WAHS! 66T gl
U654 G TED & BaR H G Wlel-THg Pl Udl |

Customers arrive at a sales counter manned by a single person according to a
poisson process with a mean rate of 20 per hour. The time required to serve a
customer has an exponential distribution with a mean of 100 seconds. Find the
average waiting time of a customer in the queue in seconds

(a) 125 (b) 135 (c) 225 (d) L1S

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134986 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

49 & HGYAd A & 3d dd 210,000 AE & UH WENEIET JUGRY &1 GG IGR Il 3
200081 f3 TAH dqfed Y &1 9 R, o 9 & 96 A Y .......... &

A lab equipment costing ¥ 10,000 has an anticipated salvage value of Z 2000 at the end of its 4-year
depreciable life. Using double declining balance method, the total depreciation after two years is:

(a) 25000 (b) 7300 (c) 27500 (d) 28000

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134986 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



4T & FITH H@ G A d 10,000 A & T WANRIGT SUSRU & YA SR I 2

200031 f FH dqfed oY &1 SWM &, o 9 & 96 P9 AR .......... &
A lab equipment costing Z 10,000 has an anticipated salvage value of Z 2000 at the end of its 4-year

depreciable life. Using double declining balance method, the total depreciation after two years is:

(a) %5000 (b) Z7300 (c) T7500 (d) 78000

Options:
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134987 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i g | Fofafed § ¥ oH-0 5% 700 Therblig' ¥ Tafid § 2
Which of the following hand-motion belongs to 'Therblig' in motion study?

L. 3uRgH facid/Unavoidable delay 2. Td®/Pre-position 3. T8/Select
4. fiw/Pick 5. fome/Lift

(a) 1Td/and 4 (b) 1 Td/and 5 (¢) 1,2Td/and3  (d) 2,3 Ud/and 4

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134987 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



i g | Fofafed § ¥ oH-0 5% 700 Therblig' ¥ Tafid § 2
Which of the following hand-motion belongs to 'Therblig' in motion study?

L. 3uRgH facid/Unavoidable delay 2. Td®/Pre-position 3. T8/Select
4. fiw/Pick 5. fome/Lift

(a) 1Td/and 4 (b) 1 Td/and 5 (¢) 1,2Td/and3  (d) 2,3 Ud/and 4

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134988 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

- pifdd fFeeE 99 & 9 0% @ AR 3.4 DPMO 35 R W # 7H 19 A 3 YR
o 8

What is the assumption in process mean shift in the concept of 3.4 DPMO six sigma towards the side
with the critical specification limit?

(a) 6 HI/sigma (b) 2.5 e l/sigma
(c) 1.5 R isigma (d) 3 Rmsigma

Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134988 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



 wifde ST W & 9 oY @ AR 3.4 DPMO B8 R tRee | vpd Wi e 3 YR
ot 87

What is the assumption in process mean shift in the concept of 3.4 DPMO six sigma towards the side
with the critical specification limit?

(a) 6 & Tsigma (b) 2.5 Rmml/sigma
(c) 1.5 ™ Isigma (d) 3 f&I/sigma

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134989 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frofofed U@ &3 (A) T 379 &R0 (R) R R &

Consider the following assertion statement (A) and its reason (R)

YIS ST/ Assertion (A): I ST, Ted HTWHAA 3 [ HH & U I A
1 30 B U I seH ¥ Gafid

Value Engineering is concerned with increasing the quality of the product at enhanced cost to
fulfil the customer requirements.

FRU/Reason (R): W5 DAY ool § 9eq €1 & aul falwim Sam &1 o Teal @i
Sagdae B [ B & qY T g

Customer requirements are changing very rapidly and survival of a manufacturing industry is
linked with fulfilling the customer’s requirements

fgfafed ¥ ¥ T faded T/Choose the correct option from the below:
() ATR G ¥ § QU R A B T W ¢

Both A and R are frue and R is the correct explanation of A

(b) A TR GH TG & T R A T T WHHW TR §

Both A and R are frue but R is NOT the correct explanation of A
(c) A Wg! § TG R Tad §/A is true but R is false
(d) A @ § TG R We1 B/A is false but R s true

Options :



1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134989 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frofofed U@ &3 (A) T 379 &R0 (R) R R &

Consider the following assertion statement (A) and its reason (R)

YIS ST/ Assertion (A): I ST, Ted HTWHAA 3 [ HH & U I A
1 30 B U I seH ¥ Gafid

Value Engineering is concerned with increasing the quality of the product at enhanced cost to
fulfil the customer requirements.

FRU/Reason (R): W5 DAY ool § 9eq €1 & aul falwim Sam &1 o Teal @i
Sagdae B [ B & qY T g

Customer requirements are changing very rapidly and survival of a manufacturing industry is
linked with fulfilling the customer’s requirements

fgfafed ¥ ¥ T faded T/Choose the correct option from the below:
() AT RGH ¥ § TR A &1 W1 B §

Both A and R are frue and R is the correct explanation of A

(b) A TR GH TG & T R A T T WHHW TR §

Both A and R are frue but R is NOT the correct explanation of A
(c) A Wg! § TG R Tad §/A is true but R is false
(d) A @ § TG R We1 B/A is false but R s true

Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134990 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



figd 9R Ul & GRF 9dC & il W ¥ 9R el & fou HA: 860, 880, 870 T 890 Tf¥e
& 9 T & U EEE 876 TR &1 Ul TRV ko REEE B ST @ 3 Thd 9
% o g@ie @ oef T we @1 Swn = ed Ei & e 2, @ Ruffee | 9
DH-H WIS IR RIS &1 Whide 91 8

The sales of a product during the last four years were 860, 880, 870 and 890 units for years one to
four respectively. The forecast for the fourth year was 876 units. If the forecast for the fifth year,
using simple exponential smoothing, is equal to the forecast using a three period moving average,
which of the following is the approximate value of the exponential smoothing constant?

(a) 0.285 (b) 0.516 (c) 0.76 (d) 0.17

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134990 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

figd IR el & ERF 9AE B 951 W ¥ 9R el & U HE: 860, 880, 870 T 890 e
) 9 U & v qaEM 876 TR &1 U1 QYR i@ OREEH B ST @ 4 Uihd oY
% o gair 9 e Tiowe we @1 9w R ed T & W 8, @ Fuffed § 9
DH-H WA IR RS &1 whee 91 8

The sales of a product during the last four years were 860, 880, 870 and 890 units for years one to
four respectively. The forecast for the fourth year was 876 units. If the forecast for the fifth year,
using simple exponential smoothing, is equal to the forecast using a three period moving average,
which of the following is the approximate value of the exponential smoothing constant?

(a) 0.285 (b) 0.516 (c) 0.76 (d) 0.17

Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134991 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
Fgfkifed & ¥ sH-91 R W wleu

Which of the following is non-parametric test

(a) JIfeid O8O/ Paired t-test (b) R TegaeH/Pearson Correlation
(c) TH § ANOVA/One way ANOVA  (d) MWW TRI&T/MWW Test

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134991 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o 4 ¥ $H-91 )R UEfe w0

Which of the following is non-parametric test

(a) JIfeid t-OTe0/Paired t-test (b) R TEgaeH/Pearson Correlation
(c) U5 § ANOVA/One way ANOVA  (d) MWW TRIET/MWW Test

Options :
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134992 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e e TR TR A, R Rea fua W HRed fed & 9 W@ oRE o 8
......... e §

In critical chain project management, the extra time that's placed between the non-critical chain and
the critical chain is known as :

(a) URESHT q®3/Project buffer (b) | §HYResource buffer
(c) PIf&T TBYFeeding buffer (d) 7o @dH (W1 W) /Free float



Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134992 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fpfeaa yaa wia weed d, R fpfera Juar o fled fea & & W@ iR T @
......... e &

In critical chain project management, the extra time that's placed between the non-critical chain and
the critical chain is known as :

(a) TRaeH §W3/Project buffer (b) FEeH FHYResource buffer
(c) BT ThFeeding buffer (d) T @ (W FT) Free float

Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134993 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TUAE H M 48 3 IN EeH R Ty UHT & o oY IRadd e o

How do the oscillations of the bullwhip effect change as you move up the supply chain?

(a) TUCR 9 & Tl § Afdedial @ FR Wd I R aled T R We: JURA 9 &
The oscillations, or fluctuations, self-correct as one moves up the supply chain from consumers
to suppliers.

(b) FUTE & & T ¥ Mfdwdel 7@ IW W W R oo T AR R 9 R

The oscillations, or fluctuations, are constant as one moves up the supply chain from consumers
to suppliers.

(c) TG T & Ted! & Aadet 7@ IN T 91 W G T AR B 7k 9 ol
The oscillations, or fluctuations, get smaller as one moves up the supply chain from consumers
to suppliers.

(d) TG T F WD § AKHae @ IN G 90 R God T ARRA 821 Bk 9 gl
The oscillations, or fluctuations, get larger as one moves up the supply chain from consumers to
suppliers.

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134993 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TUAE H M 48 3 IN EeH R Ty UHT & o oY IRadd e o

How do the oscillations of the bullwhip effect change as you move up the supply chain?

(a) TUCR 9 & Tl § Afdedial @ FR Wd I R aled T R We: JURA 9 &
The oscillations, or fluctuations, self-correct as one moves up the supply chain from consumers
to suppliers.

(b) FUTE & & T ¥ Mfdwdel 7@ IW W W R oo T AR R 9 R

The oscillations, or fluctuations, are constant as one moves up the supply chain from consumers
to suppliers.

(c) TG T & Ted! & Aadet 7@ IN T 91 W G T AR B 7k 9 ol
The oscillations, or fluctuations, get smaller as one moves up the supply chain from consumers
to suppliers.

(d) TG T F WD § AKHae @ IN G 90 R God T ARRA 821 Bk 9 gl
The oscillations, or fluctuations, get larger as one moves up the supply chain from consumers to
suppliers.

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134994 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W e | MEE e 9 65 W 85 & d FIRd 5l U@ Y6 0o [ Aerwd Sia,
[ofafed 3M: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75 UGH Bl &l Wicddd HHG fddeH 9.905 HHI
T gl g dd e (dided) & AL 8

The relative humidity limits in an enclosure is expected to be between 65 and 85. Random samples
taken over a period of one week yield the following values: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75. The
sample standard deviation is found as 9.905. The value of lower capability index (CPL) is:

(a) 0.337 (b) 0.374 (c) 0.274 (d) 0.153

Options :
1.a
2.b
3.c



4.d

Question Number : 59 Question Id : 7715134994 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 e § MRS Msal W1 65 T 85 & a1 UAId ¢l 0& Jug 0o U s foddd,
fgfafad AM: 60,78, 70, 84, 81, 80, 85, 60, 88, 75 UGH &Xdl gl Wfiwad AH@ faga 9.905 AMI
T gl Y A GEaie (@ @AM 8

The relative humidity limits in an enclosure is expected to be between 65 and 85. Random samples
taken over a period of one week yield the following values: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75. The
sample standard deviation is found as 9.905. The value of lower capability index (CPL) is:

(a) 0337 (b) 0.374 (c) 0.274 (d) 0.153

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134995 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s & ¥ oH-1 ff @ g @ @ 9 @ 73 foftE o & SREe e § 9 o
g, R & 3T ¥ sga

Which of the following methods enable one worker fo take charge of many different machines at a
time, thus improving productivity.

(a) ANDON (b) JIDOKA
(c) POKAYOKE (d) a @ b GHI/Botha & b

Options :
1.a
2.b
3.C
4.d



Question Number : 60 Question Id : 7715134995 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofied 7 4 FH-1 o) @ T W@ 999 § &% [0 AEHl & 3RO B H T B
g, fom & ST @ sga 1

Which of the following methods enable one worker to take charge of many different machines at a
time, thus improving productivity.

(a) ANDON (b) JIDOKA
(c) POKAYOKE (d) a @ b GHI/Botha & b

Options :
1.a
2.b
3.C
4.d

Aptitude Test

PartlI



Question Number : 61 Question Id : 7715134996 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Water: Pitcher :: 7 : Vase

(a) Fruits

(b) Flowers

(c) Ice

(d) Iudad ¥ U @IS T8l/None of these
Options :

1.a

2.b

3.c

4.d

Question Number : 61 Question Id : 7715134996 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Water: Pitcher :: ? : Vase

(a) Fruits

(b) Flowers

(c) lce

(d) Iuddd H I ®Is "Ag/None of these
Options :

1.a

2.b

3.C

4.d

Question Number : 62 Question Id : 7715134997 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T Rt X R 9 T i otk o fefu e ot ot Wfer e U O s Wil O
B R ITIR IR | ! 31 AT Be o Ul 1 foved e i gyl 3, Bl X
Fffe & fop Ol & Tt o7 T 1 1 T e T e g | el R e X &
I 1 59 o F e 1 9 - i g g

Insurance Gompany X is considering issuing a new policy to cover services required by
elderly people who suffer from diseases that afflict the elderly. Premiums for the policy
must be low enough to attract customers. Therefore, Company X is concerned that the
income from the: policies would not be sufficient to pay for the claims that would be made.
Which of the following strategies would be most likely to minimize Company X's losses on
the policies?

(a) e T TEd! Bl HHA D, W P el W T b foTL el g Tl T g
Attracting middle-aged customers unlikely to submit claims for benefits for many
years.

(o) T 32 auiadt ) o e, o a0 ot B o TR 3 T g 1
Insuring only those individuals who did not suffer any serious diseases as children

(c) w0 3 it ot e o 39 wierd A i S T i it e
Including a greater number of services in the policy than are included in other
policies of lower cost

(d) e 3 cart ot e e, Forg e ierel o feru 3 Uil T selgpet foar
1l
Insuring only those individuals who were rejected by other companies for similar

policies
Options:
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134997 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T Rt X R 9 T i otk o fefu e ot ot Wfer e U O s Wil O
B R ITIR IR | ! 31 AT Be o Ul 1 foved e i gyl 3, Bl X
Fffe & fop Ol & Tt o7 T 1 1 T e T e g | el R e X &
I 1 59 o F e 1 9 - i g g

Insurance Gompany X is considering issuing a new policy to cover services required by
elderly people who suffer from diseases that afflict the elderly. Premiums for the policy
must be low enough to attract customers. Therefore, Company X is concerned that the
income from the: policies would not be sufficient to pay for the claims that would be made.

Which of the following strategies would be most likely to minimize Company X's losses on
the policies?

(a) e T TEd! Bl HHA D, W P el W T b foTL el g Tl T g
Attracting middle-aged customers unlikely to submit claims for benefits for many
years.

(o) T 32 auiadt ) o e, o a0 ot B o TR 3 T g 1
Insuring only those individuals who did not suffer any serious diseases as children

(c) w0 3 it ot e o 39 wierd A i S T i it e
Including a greater number of services in the policy than are included in other
policies of lower cost

(d) e 3 cart ot e e, Forg e ierel o feru 3 Uil T selgpet foar
1l
Insuring only those individuals who were rejected by other companies for similar

policies
Options:
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134998 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fwfciad fasedl H U 76T Wsg GREGARIOUS 1 faudiary g dd Weg 1 9g &Y
Choose one of the following options that means the opposite of the word;
GREGARIOUS

(a) Antisocial
(b) Glorious
(c) Horrendous
(d) Similar

Options :



1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134998 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fafeEd fddedt # ¥ 5 wsg GREGARIOUS @1 faudiand gui= ard wieg &1 907 &

Choose one of the following options that means the opposite of the word;
GREGARIOUS

(@) Antisocial
(b) Glorious
(c) Horrendous
(d) Similar

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134999 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

30 U IR A9 T U4 i A A SRR & w0 3 o 0 R T 0 U5 TR 3 99 98
aI0H P § R SHUP! T3 T4 51a & 1 10 I $10.00 BH T 1 3110 Ig I7h PR b U Wl
TEd 3 e 3 AoReR SIS T8 Il | 31U v dgeR Tfe 71 82

You are working as a cashier at a busy gas station and mini-mart. You give a customer
their change and realize you shorted them $10.00. You see them walking to their car, but
you cannot leave the register. What is the best course of action to take?

() 3T U $10.00 &I T ¢, Jfeh Wg P! el 51 ol il 5 [ 34 ¥ At g
Keep the $10.00 since the customer did not realize they were shorted.
(b) $10.00 P Ao Aorex B d 7@ o quT I 1 b e amm e
Put the $10.00 in the bottom of your register and hope the customer comes back.
(c) el whow Ren IRT IR &1 @H HETd B 3 ST B
Try to get the customer's attention on the outside speaker system.
(d) HARH @S 3T 7@ B $10.00 & 71 5 75 1 M T FeT § 39 ¢ ! g
Give the $10.00 to a customer next in line and ask them to take it to the customer
you shorted.



Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134999 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

30 U IR 9 T U i A A SRR & w0 7 ol a1 R 21 90 U TR 3 99 98
AI0H B § AR TSI U5 T 31l § 1o 30 35 $10.00 HH QU F1 310 3% Ieh BR o U Il
THd &, Qe oM FoReR B Tol Uehol | AT T S i 1 8

You are working as a cashier at a busy gas station and mini-mart. You give a customer
their change and realize you shorted them $10.00. You see them walking to their car, but
you cannot leave the register. What is the best course of action to take?

(a) 30 TR $10.00 B W@ o b A B! Ul &1 el el & b 34 B i 2
Keep the $10.00 since the customer did not realize they were shorted.
(b) $10.00 1 3o ISR it Fiel T T TUT I BY 1o Ieed AIqE S|
Put the $10.00 in the bottom of your register and hope the customer comes back.
(c) argd wiiep RireeH IRU T1geh H1 AH HHid P B IR B
Try to get the customer's attention on the outside speaker system.
(d) FARHGS ATl e I $10.00 & o1 ord 6 Bl A1 B 3T & 98 & ol g
Give the $10.00 to a customer next in line and ask them to take it to the customer
you shorted.

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715135000 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T B B R o, ol 31 A & T B T W R & R % o1 31 0 O e gl
YRG! 98 301 P T R [ 1 2, Ao 39 1o B8 81 & o6 990 Wk 9 0gal g
ST R S G T B UTel| St GRT S0 17 el Sfard fd a6 32

Every day at the law firm, Jamie has a list of tasks she needs to complete by the end of
the day. While she generally finishes her assignments on time, some days, Jamie finds

that she cannot complete all the tasks before heading home. What is the best approach
for Jamie to take?

(a) S @I & &7 o o1 [ B 8 A0 Fedigl &) Weral ol dieu
Jamie should recruit her colleagues to help her finish her tasks each day.

(b) S Bl T & TG & 00 d I B [ B &I HIRR G2 A1, 3G T A A b
3 Bich & ol Brdl 1 QU S o forw gHEn U o fo W gl gl
Jamie should try to complete all tasks by the end of the day, but if she is unable
to, there is always tomorrow fo finish the tasks.

(c) Wit e Q@ apet @ ferg Feifed Sl ot Gisrieg &% & foft oll I % 161 Yag 98 ¥
BEAREIE!EHY
Jamie should spend a little time every morning planning and organizing the tasks
that need to be completed each day.

(d) o I 3fU e W &1 A MR Td D1 i G P 10 v g AT AgU

Jamie should talk to her supervisor and ask for their help organizing the tasks.

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715135000 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T B B R o, ol 31 A & T B T W R & R % o1 31 0 O e gl
YRG! 98 301 P T R [ 1 2, Ao 39 1o B8 81 & o6 990 Wk 9 0gal g
ST R S G T B UTel| St GRT S0 17 el Sfard fd a6 32

Every day at the law firm, Jamie has a list of tasks she needs to complete by the end of
the day. While she generally finishes her assignments on time, some days, Jamie finds

that she cannot complete all the tasks before heading home. What is the best approach
for Jamie to take?

(a) S @I & &7 o o1 [ B 8 A0 Fedigl &) Weral ol dieu
Jamie should recruit her colleagues to help her finish her tasks each day.

(b) S Bl T & TG & 00 d I B [ B &I HIRR G2 A1, 3G T A A b
3 Bich & ol Brdl 1 QU S o forw gHEn U o fo W gl gl
Jamie should try to complete all tasks by the end of the day, but if she is unable
to, there is always tomorrow fo finish the tasks.

(c) Wit e Q@ apet @ ferg Feifed Sl ot Gisrieg &% & foft oll I % 161 Yag 98 ¥
BEAREIE!EHY
Jamie should spend a little time every morning planning and organizing the tasks
that need to be completed each day.

(d) o I 3fU e W &1 A MR Td D1 i G P 10 v g AT AgU

Jamie should talk to her supervisor and ask for their help organizing the tasks.

Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715135001 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Play, actor @ fefg dl € Sl concert ........ @ U 8/Play is to actor as concert is to

a) Symphony
b) Musician
) Piano

) Percussion

— p— p—

lz]

d

—

Options :
1.a
2.b
3.c
4.d



Question Number : 66 Question Id : 7715135001 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Play, actor o ferg d1 § il concert

(@) Symphony
(b) Musician
(c) Piano

(d) Percussion

........ @ felU 2/Play is to actor as concert is to

Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715135002 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

HIF-41 W foig 2 1 It M2/Which one will replace the question mark ‘2

> 6 5
8 S 7
10 7 ?

400 | 378 | 315

Options :
1.a
2.b
3.c
4.d



Question Number : 67 Question Id : 7715135002 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

HIF-41 W faig 2 1 Wt M2/Which one will replace the question mark ‘2

35 6 5
8 ) 7
10 7 ?

400 | 378 | 315

Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715135003 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



9 U 4l It & A BT AR 6RO B oo U 1 TR AR 9 B g 9 Aead o o

A bucket of water has a leak on its lower side. As the water level goes down, what happens
to the speed of the water coming out of the hole?

(a) @it increases

)
(b) THH It stays the same
(c) HHgrIIt decreases

(d) foorid g1 St reverses

Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715135003 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



9 U 4l It & A BT AR 6RO B oo U 1 TR AR 9 B g 9 Aead o o

A bucket of water has a leak on its lower side. As the water level goes down, what happens
to the speed of the water coming out of the hole?

(a) @it increases

)
(b) THH It stays the same
(c) HHgrIIt decreases

(d) foorid g1 St reverses

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715135004 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

oS, U AHRID (BIERETRER) 400 UES &) a% B I3H & oIl 200 TS a6 & clas Bl JUan
I 3, TliaR BT T TATH 132

If a firefighter uses a lever to use 200-pound force to lift a 400-pound object, what is the
mechanical advantage of the lever?

(a) 1

(b)
(c)
(d)

Options :

2
5
20

1.a
2.b
3.c
4.d



Question Number : 69 Question Id : 7715135004 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e, T HUHD (BIRBRCR) 400 NS S 9% B I3H o [T 200 TS o B wilaR bl ST
1 ¢, TR &1 FiAd Y T 32

If a firefighter uses a lever to use 200-pound force to lift a 400-pound object, what is the
mechanical advantage of the lever?

(a) 1

(b)
()
(d)

Options :

2
5
20

1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715135005 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Sl & Fid & gl ey Wl g/All the tulips in Zoe's garden are white.
Sl & Fid & g U0 died g/All the pansies in Zoe's garden are yellow.
& & & T Ga The 7 i §

All the flowers in Zoe's garden are either white or yellow

afe; Ugdl & FY Rl 8, ol AR P B

If the first two statements are true, the third statement is

(a) TElTrue

(b) TIeid/False

(

)
(c) MHFTUncertain
d) Iwdad TVAll of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715135005 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



il & 71 & T =ferd e B/All the tulips in Zoe's garden are white.
ol & &7 & T O dicd 8/All the pansies in Zoe's garden are yellow.
¥ & T & 9 o ge Tl §

All the flowers in Zoe's garden are either white or yellow

e g &l HY R §, AR B B

If the first two statements are true, the third statement is
(a) TEITrue

(b) TIed/False

(c) fFfEdUncertain

(d) Iwiad Al of the above

Options :
1.a
2.b
3.c
4.d

Part 11

Question Number : 71 Question Id : 7715135006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1,8,4,27,9,7
(
(

(
(

Options :

) 8
) 9
)
)

o L

64
6

o

o
-



1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715135006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1,8,4,27,9,?
(
(b

(

(d

o
—

)

)

) 64
) 16
Options :
1.a

2.b

3.c

4.d

Question Number : 72 Question Id : 7715135007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HY-/Statements:

s Hige HMYD] T8l Wl bdl/No women teacher can play.
$o Algdl HAMUSY REdrS! §/Some women teachers are athletes.

fA=pH/Conclusions:

() oY fgarS! Wd Udbd a/Male athletes can play
(i) Po aars ¥d 9od 8/Some athletes can play.

(a) HH (i) Wel g/Only conclusion (i) follows
(b) | (ii) Wel 8/Only conclusion (ii) follows
(c) ar(i)ar (i Hﬁ%ﬁEﬂher{l}or (ii) follows
(d) gl (i) 7 (i) GS! 8/Neither (i) nor (ii) follows
Options :

1.a

2.b

3.c

4.d



Question Number : 72 Question Id : 7715135007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Y-/Statements:
I3 HigaT TS 75! Wd Yhdl/No women teacher can play.
© Al UG d Radrs] 8/Some women teachers are athletes.

fA=pH/Conclusions:

(i) ey fEadre! Wd Uad o/Male athletes can play
(i) o fGds Wd 9od o/Some athletes can play.

(a) WM (i) el 3/Only conclusion (i) follows
(b) | (i) Gel &/Only conclusion (ii) follows
(c) (i) ar (i) Wel g/Either (i) or (ii) follows
(d) A8I(i) A (i) 8l &/Neither (i) nor (ii) follows
Options

1.a

2.b

3.c

4.d

Question Number : 73 Question Id : 7715135008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR feiA 900t 1 Q1 aell §2/Which figure completes the series?

¢/ ¢

¢

¢ &

(b)

(d) /

¢

Options :
1.a
2.b
3.cC
4.d

Question Number : 73 Question Id : 7715135008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR feiA 900t 1 Q1 aell §2/Which figure completes the series?

¢/ ¢

¢

¢ &

(b)

(d) /

¢

Options :
1.a
2.b
3.cC
4.d

Question Number : 74 Question Id : 7715135009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fopt o 0 @ i 2

To which group does the figure belong?

WICERE

(a) A
(b) B
(c) & AB Neither AnorB
(d) Ia WA of the above

Options:

1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715135009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fopt o 0 @ i 2

To which group does the figure belong?

WICERE

(a) A
(b) B
(c) & AB Neither AnorB
(d) Ia WA of the above

Options:

1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715135010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foet i o 3 Wil &7

To which group does the figure belong?

Group A “' ” AA‘ .) III

Group B p—

AT ¢

o A9 B INeither A nor B
Iy TAI of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715135010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foet i o 3 Wil &7

To which group does the figure belong?

0

AVA

A

Options :
1.a
2.b
3.c
4.d

V]

Ao W

INeither A nor B
e TAI of the above

A

\4

Descriptive



Question Number : 76 Question Id : 7715135011 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

T B 3 R oRaeel A @ B W fER & @R wRa A @1 A 2 30,000 G
UREIGHI B B T 236,000 &1 Jd GRUIGHT & U Fad qoMH A T WMo foRw A a
T &

A company is considering two mutually exclusive projects A and B. Project A costs Z 30,000 and
Project B 2 36,000. You have been given below the net present value, probability distribution for
each project;

Ui Project A UNaIGH Project B
Tl M i) U S 2 e
NPV estimate Probability NPV estimate Probability
3000 0.1 3000 0.2
6000 04 6000 03
12000 04 12000 03
15000 0.1 15000 02

a0 iE @ 0 B W O SifeR & ofR R Sfed oRaiee @t Reia &)

Compute the coefficient of variation associated with each project and recommend suitable project
based on risk quantified.

Question Number : 76 Question Id : 7715135011 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



@ ol @ fy oUW A @ B W fdER & @31 ORUMA A @ T 2 30,000 U1
UREIGHI B B T 236,000 &1 Jd GRUIGHT & U Fad qoMH A T WMo foRw A a
T &

A company is considering two mutually exclusive projects A and B. Project A costs Z 30,000 and

Project B 2 36,000. You have been given below the net present value, probability distribution for
each project;

Ui Project A UNaIGH Project B
Tl M i) U S 2 e
NPV estimate Probability NPV estimate Probability
3000 0.1 3000 0.2
6000 04 6000 03
12000 04 12000 03
15000 0.1 15000 02

a0 iE @ 0 B W O SifeR & ofR R Sfed oRaiee @t Reia &)

Compute the coefficient of variation associated with each project and recommend suitable project
based on risk quantified.

Question Number : 77 Question Id : 7715135012 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

I fEu uiee & o, iiea wy @1 o @

For a project given below find the critical path.

THY A/ Time estimates are

cXd/Task —» A|B |C |D F |G [H |T [T |K
A4dH YHY/Leasttime |4 |5 |8 |2 |4 8 |5 (3 |5 |6
fDaH G § (10 |12 |7 |10 |15 |16 |9 |7 |1l [I3
Greatest time

3fcdd UHdd: g9 S|7 |13 |7 ({9 [12]6 |5 |8 |9
Most likely time

Ui/ Pre requisites |- |- |A |- |BC|D |D |EF|EF|GI|H

Question Number : 77 Question Id : 7715135012 Question Type : SUBJECTIVE Consider As



Subjective : Yes
Correct Marks : 5

I fou uRaiem & o, ffewa ©u & o e

For a project given below find the critical path.

AT SfHM/Time estimates are

CXd/Task —» A|B |C |D |E |F |G |[H [T |J |K
I T0/Leasttime (4 |5 |8 |2 |4 8 |5 |3 |5 |6
P Ty g8 110 |12 |7 (10 |15 (16 |9 |7 |1l |13
Greatest time

3dd ¥Had: T 507 |13 |7 (9 [12]6 |5 |8 |9
Most likely time

UG Pre requisites |- |- |A |- |BC|D |D |EF|EF|GI|H

Question Number : 78 Question Id : 7715135013 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



T IR =i, TR 7 TR e A ! o W | T O o W 6 T A T
I e 1T 1 Taer i o e RTGRT o e, fer 7 e ot o ot fan v

In a machine shop, four jobs need to be assigned to four different machines. Each of
the jobs is to be assigned to one machine only at a time. The time taken to complete
the job in different machines is given in the table below:

Machines
M M, My M

e |45 B8 4. AT
Lo|41 122 15 13

S| 1 10 1
o

L1155 17 14 16

g G et T o ol o ) 0 e 5 TR A, I o S ROl bl el
|

In order to ensure that the total time required to complete all the jobs is minimum, find
the optimal assignment of the job.

Question Number : 78 Question Id : 7715135013 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



T Hel Gy ¥, R B R - A 3 o o 21 U @ 1 U8 € T A U |
e fer o g1 ot el el o e o fore foro o v ! ot e 2

In a machine shop, four jobs need to be assigned to four different machines. Each of
the jobs is to be assigned to one machine only at a time. The time taken to complete
the job in different machines is given in the table below:

Machines
M M, My M

olis Bouoon

ho|1o12o15 13
S| 1 10 1
o

L1155 17 14 16

g G et T o ol o ) 0 e 5 TR A, I o S ROl bl el
|

In order to ensure that the total time required to complete all the jobs is minimum, find
the optimal assignment of the job.

Question Number : 79 Question Id : 7715135014 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

9 e & I & AT U4 3 e o A fager § 9 W S o (g, 9 Tt ol il @
95% Hdl TR HIFTd 5T YF-2MTG 16 1 URDer | S Hal TR ob T g ATeh S Gl
TR P! 1.64 7 1 9 31

For a company with average daily demand of 9 units and standard deviation of 3
units, calculate the reorder point assuming a 9 day lead time and 95% service level.

The standard normal variable value associated with above service level can be taken
as 1.64.

Question Number : 79 Question Id : 7715135014 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



9 e & I &N A U4 3 e o A fdger § 3 U S o (g, 9 Tt il il @
05% e TR T G TG f6g T URert b | STt Hal SR o 1Y Y Aeh 1T el
AF 3 1.64 7F1 9 T €|

For a company with average daily demand of 9 units and standard deviation of 3
units, calculate the reorder point assuming a 9 day lead time and 95% service level.

The standard normal variable value associated with above service level can be taken
as 1.64.

Question Number : 80 Question Id : 7715135015 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

fachl o kel ST a6 9T 70 TR 1 G fradi Ui, &l o 60 HIoTd I 3 gl ) o
feac T % 90,000 &, bl e o 75% TR e at TI0FAT e

The ratio of variable costs to sales is 70 percent. The breakeven point occurs at 60
percent of the capacity. When fixed cost is < 90,000, compute profit at 75% of the
capacity sales.

Question Number : 80 Question Id : 7715135015 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

fd5b1 b Ul TG 1 ST 70 WIS e Ui, &l o 60 BRI W 97 gl g1 o
fear T € 90,000 ¢, o el et & 75% R T o1 T0RT e

The ratio of variable costs to sales is 70 percent. The breakeven point occurs at 60
percent of the capacity. When fixed cost is < 90,000, compute profit at 75% of the
capacity sales.





